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3850#show platform gos queue config gigabitEthernet 1/0/1
DATA Port:20 GPN:66 AFD:Disabled QoSMap:0 HW Queues: 160 - 167
DrainFast:Disabled PortSoftStart:1 - 1080

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 5 120 6 480 6 320 0 0 3 1440
1 1 4 0o 7 720 3 480 2 180 3 1440
2 1 4 0 5 0 5 0 0 0 3 1440
3 1 4 0 5 0 5 0 0 0 3 1440
4 1 4 0 5 0 5 0 0 0 3 1440
5 1 4 0 5 0 5 0 0 0 3 1440
6 1 4 0 5 0 5 0 0 0 3 1440
7 1 4 0 5 0 5 0 0 0 3 1440

<<output omitted>>
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3850#show platform gos queue config tenGigabitEthernet 1/0/37
DATA Port:1 GPN:37 AFD:Disabled QoSMap:0 HW Queues: 8 - 15
DrainFast:Disabled PortSoftStart:2 - 6480

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 6 720 8 2880 7 1280 0 0 4 8640
1 1 4 9 4320 8 1920 3 1080 4 8640
2 1 4 0 5 0 5 0 0 0 4 8640
3 1 4 0 5 0 5 0 0 0 4 8640
4 1 4 0 5 0 5 0 0 0 4 8640

<<output omitted>>
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HardMax = Oper_Buff = 3002] 20% = 60.

gSoftMax = (Oper_Buff * Max_Threshold)/100=60*400/100=240
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HardMax = Oper_Buff = 18002] 20% = 360
gSoftMax = (Oper_Buff * Max_Threshold)/100=60*400/100=240
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HardMax =0

gSoftMax = (Oper_Buffer*Max_Threshold)/100 = 300*20/100= 60. 602| 400% = 240
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HardMax =0

gSoftMax = (Oper_Buffer*Max_Threshold)/100 = 1800*20/100= 360. 3602| 400% = 1440
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3850#show platform gos queue config gigabitEthernet 1/0/1
DATA Port:0 GPN:119 AFD:Disabled QoSMap:0 HW Queues: 0 - 7
DrainFast:Disabled PortSoftStart:1 - 1080

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 5 120 6 480 6 320 0 0 3 1440
1 1 4 (N 720 3 480 2 180 3 1440
2 1 4 0 5 0 5 0 0 0 3 1440

<<output omitted>>

3850#show platform gos queue config tenGigabitEthernet 1/0/37
DATA Port:1 GPN:37 AFD:Disabled QoSMap:0 HW Queues: 8 - 15
DrainFast:Disabled PortSoftStart:2 - 6480

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 6 720 8 2880 7 1280 0 0 4 8640
1 1 4 0 9 4320 8 1920 3 1080 4 8640
2 1 4 0 5 0 5 0 0 0 4 8640
<<output omitted>>
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policy-map MYPOL
class ONE
priority percent 20
class TWO
bandwidth percent 40
class THREE
bandwidth percent 10
class FOUR
bandwidth percent 5

3850#show run interface gigl/0/1

Current configuration : 67 bytes
!

interface GigabitEthernetl/0/1
service-policy output MYPOL

end

3800#show platform gos queue config gigabitEthernet 1/0/1
DATA Port:21 GPN:65 AFD:Disabled QoSMap:1 HW Queues: 168 - 175
DrainFast:Disabled PortSoftStart:2 - 360

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 4 0 8 240 7 160 3 60 4 480
1 1 4 0 8 240 7 160 3 60 4 480
2 1 4 0 8 240 7 160 3 60 4 480
3 1 4 0 8 240 7 160 3 60 4 480
4 1 4 0 8 240 7 160 3 60 4 480

<<output omitted>>

I--- There are 5 classes present though you only created 4 classes.

!-—— The 5th class is the default class.

!-—— Each class represent a queue and the order in which it is shown is the order in which
I-—— it is present in the running configuration when checking "show run / sec policy-map".
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policy-map MYPOL

class ONE

priority percent 20
class TWO

bandwidth percent 40
class THREE
bandwidth percent 10
class FOUR

bandwidth percent 5

3850#show run interface TenGigabitEthernetl1l/0/37

Current configuration : 67 bytes

!

interface TenGigabitEthernetl/0/37
service-policy output MYPOL

end

3850#show platform gos queue config tenGigabitEthernet 1/0/40
DATA Port:2 GPN:40 AFD:Disabled QoSMap:1 HW Queues: 16 - 23



DrainFast:Disabled PortSoftStart:4 - 2160

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 4 0 10 1440 9 640 4 360 5 2880

1 1 4 0 10 1440 9 640 4 360 5 2880

2 1 4 0 10 1440 9 640 4 360 5 2880

3 1 4 0 10 1440 9 640 4 360 5 2880

4 1 4 0 10 1440 9 640 4 360 5 2880

5 1 4 0 5 0 5 0 0 0 5 2880 <<output omitted>>
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policy-map MYPOL

class ONE

priority level 1 percent 20
class TWO

bandwidth percent 40

class THREE

bandwidth percent 10

class FOUR

bandwidth percent 5

3850#show run interface gigl/0/1

Current configuration : 67 bytes
!

interface GigabitEthernetl/0/1
service-policy output MYPOL

end

BGL.L.13-3800-1#show platform gos queue config gigabitEthernet 1/0/1
DATA Port:21 GPN:65 AFD:Disabled QoSMap:1 HW Queues: 168 - 175
DrainFast:Disabled PortSoftStart:2 - 360

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 6 60 8 240 7 160 0 0 4 480
1 1 4 0 8 240 7 160 3 60 4 480
2 1 4 0 8 240 7 160 3 60 4 480
3 1 4 0 8 240 7 160 3 60 4 480
4 1 4 0 8 240 7 160 3 60 4 480

<<output omitted>>
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policy-map MYPOL

class ONE

priority level 1 percent 20
class TWO

bandwidth percent 40

class THREE

bandwidth percent 10

class FOUR

bandwidth percent 5

3850#show run interface Tel/0/37



Current configuration : 67 bytes

!

interface TenGigabitEthernetl/0/37
service-policy output MYPOL

end

3850_1l#show platform gos queue config tenGigabitEthernet 1/0/37
DATA Port:2 GPN:40 AFD:Disabled QoSMap:1 HW Queues: 16 - 23
DrainFast:Disabled PortSoftStart:3 - 2160

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 7 360 10 1440 9 640 0 0 5 2880
1 1 4 0 10 1440 9 640 4 360 5 2880
2 1 4 0 10 1440 9 640 4 360 5 2880
3 1 4 0 10 1440 9 640 4 360 5 2880
4 1 4 0 10 1440 9 640 4 360 5 2880
5 1 4 0 5 0 5 0 0 0 5 2880

<<output omitted>>
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policy-map MYPOL

class ONE

priority level 1 percent 20
class TWO

priority level 2 percent 10
class THREE

bandwidth percent 10

class FOUR

bandwidth percent 5

class FIVE

bandwidth percent 10

3850#show run interface gigabitEthernetl/0/1

Current configuration : 67 bytes
!

interface GigabitEthernetl/0/1
service-policy output MYPOL

end

3850#show platform gos queue config gigabitEthernet 1/0/1
DATA Port:16 GPN:10 AFD:Disabled QoSMap:1 HW Queues: 128 - 135
DrainFast:Disabled PortSoftStart:3 - 306

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd
0 1 7 51 10 204 9 136 0 0 5 408
1 1 7 51 10 204 9 136 0 0 5 408
2 1 4 0 10 204 9 136 4 51 5 408



3 1 4 0 10 204 9 136 4 51 5 408
4 1 4 0 11 192 10 128 5 48 5 408
5 1 4 0 11 192 10 128 5 48 5 408
6 1 4 0 5 0 5 0 0 0 5 408
<<output omitted>>
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policy-map MYPOL
class ONE
priority level 1 percent 20
class TWO
priority level 2 percent 10
class THREE
bandwidth percent 10
class FOUR
bandwidth percent 5
class FIVE
bandwidth percent 10

3850#show run interface Tel/0/37

Current configuration : 67 bytes

!

interface TenGigabitEthernetl/0/37
service-policy output MYPOL

end

3850_2#show platform gos queue config tenGigabitEthernet 1/0/37
DATA Port:2 GPN:40 AFD:Disabled QoSMap:1 HW Queues: 16 - 23
DrainFast:Disabled PortSoftStart:4 - 1836

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 8 306 12 1224 11 544 0 0 6 2448
1 1 8 306 12 1224 11 544 0 0 6 2448
2 1 4 0 12 1224 11 544 6 306 6 2448
3 1 4 0 12 1224 11 544 6 306 6 2448
4 1 4 0 13 1152 12 512 7 288 6 2448
5 1 4 0 13 1152 12 512 7 288 6 2448
6 1 4 0 5 0 5 0 0 0 6 2448

<<output omitted>>
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policy-map TEST_POLICY

class ONE

priority level 1 percent 40
class TWO

bandwidth percent 40

class THREE

bandwidth percent 10

3850#show run interface gigabitEthernetl/0/1

Current configuration : 67 bytes

!

interface GigabitEthernetl/0/1
service-policy output TEST_POLICY

end

3850#show platform gos queue config gigabitEthernet 1/0/1
DATA Port:21 GPN:65 AFD:Disabled QoSMap:1 HW Queues: 168 - 175
DrainFast:Disabled PortSoftStart:2 - 450

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 6 75 8 300 7 200 0 0 4 600

1 1 4 0 8 300 7 200 3 75 4 600

2 1 4 0 8 300 7 200 3 75 4 600

3 1 4 0 8 300 7 200 3 75 4 600
<<output omitted>>
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policy-map TEST_POLICY

class ONE

priority level 1 percent 40

class TWO

bandwidth percent 40

queue-buffers ratio 50 <mmm -

class THREE
bandwidth percent 10

class FOUR

bandwidth percent 5

M I gZd|ct
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3850#show platform gos queue config gigabitEthernet 1/0/1

DATA Port:21 GPN:65 AFD:Disabled QoSMap:1 HW Queues: 168 - 175
DrainFast:Disabled PortSoftStart:0 - 900



DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 6 39 8 156 7 104 0 0 0 1200

101 4 0 9 600 8 400 3 150 0 1200

2 1 4 0 8 156 7 104 4 39 0 1200

301 4 010 144 9 96 5 36 0 1200

4 1 4 010 144 9 96 5 36 0 1200
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3850#show platform gos queue config tenGigabitEthernet 1/0/37
DATA Port:2 GPN:40 AFD:Disabled QoSMap:1 HW Queues: 16 - 23
DrainFast:Disabled PortSoftStart:4 - 1836

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

0 1 7 234 10 936 9 416 0 0 5 7200
1 1 4 0 11 3600 10 1600 4 900 5 7200
2 1 4 0 10 936 9 416 5 234 5 7200
3 1 4 0 4 864 11 384 1 216 5 7200
4 1 4 0 4 864 11 384 1 216 5 7200
5 1 4 0 5 0 5 0 0 0 5 7200

<<output omitted>>
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policy-map NODROP
class class-default
bandwidth percent 100
queue-buffers ratio 100

QoS u|ago|sd Ante ChS1 Z&LCh

3850#show platform gos queue config GigabitEthernet 1/1/1
DATA Port:21 GPN:65 AFD:Disabled QoSMap:1 HW Queues: 168 - 175
DrainFast:Disabled PortSoftStart:0 - 900

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd
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3850#show interfaces gigl/0/1 | in output drop

Input queue: 0/2000/0/0 (size/max/drops/flushes); Total output drops: 497000
ole48t A Ml Th2(7 18 A Zhyoll EAIELICH 7|[E2Mo2 AAEE %|ci 2AH LS Drop-Th2¢!
AR UAHZISE A E = U&LCt.

3800#show platform gos queue stats gigabitEthernet 1/0/1

497000 0 0 1 0 0 0 0 O

O™ ChS 0] service-policy® #4350 HIH{E XY EFLICH.

policy-map TEST_POLICY
class class-default
bandwidth percent 100
queue-buffers ratio 100

3850#show run interface gigabitEthernetl/0/1

Current configuration : 67 bytes

1

interface GigabitEthernetl/0/1
service-policy output TEST_POLICY

end

3850#show platform gos queue config gigabitEthernet 2/0/1
DATA Port:21 GPN:65 AFD:Disabled QoSMap:1 HW Queues: 168 - 175
DrainFast:Disabled PortSoftStart:0 - 900

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd



0 1 4 0 8 1200 7 800 3 300 2 2400 <-- queue 0 gets all the buffer.

3850#show interfaces gigabitEthernetl/0/1 | include output drop
Input queue: 0/2000/0/0 (size/max/drops/flushes); Total output drops: 385064
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3850#show platform gos queue config gigabitEthernet 1/0/1
DATA Port:21 GPN:65 AFD:Disabled QoSMap:1 HW Queues: 168 - 175
DrainFast:Disabled PortSoftStart:0 - 900

DTS Hardmax Softmax PortSMin GlblSMin PortStEnd

3850#show interfaces gigabitEthernetl/0/1 | in output drop
Input queue: 0/2000/0/0 (size/max/drops/flushes); Total output drops: 0
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https://bst.cloudapps.cisco.com/bugsearch/bug/CSCuu14019
https://bst.cloudapps.cisco.com/bugsearch/bug/CSCuz86625
https://www.cisco.com/c/ko_kr/support/index.html?referring_site=bodynav
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